PFM Tutorial 8 – Superannuation

PAQ 12.1, 12.3, 12.5

PAE 12.1 – 12.3

Pro Advice Chp. 12

Case Study 5

12.1 Features of an allocated pension

· nil tax rate (no CGT)

· pension payments to fall between prescribed minimum and maximum amounts

· designed to allow capital to last for expected lifetime

· investment choices can be changed

· access to capital is permitted

· non-complying pension

· attracts a 15% tax rebate (if under RBL)

· capital amount may be extinguished if long life

12.3 What is a replacement rate and what is a decent rate?

A replacement rate is generally regarded as the proportion of a person’s final gross income received from employment. There is no fixed amount, but as a general rule it is considered to be 60-70% of the final salary.

12.5 Lifetime Annuity

· an expectation of a long life

· the safety or security for a basic level of income

· a desire to avoid volatility of returns in investments

· transfer investment risk to a life insurance company

PAE 12.1

a) The maximum Henry can claim a tax deduction is $35 138.

b) To claim the maximum tax deduction. Henry, as a self-employed person is required to contribute $45 184. This is based on the formula:

Maximum deductible amount = $5000 + 0.75(Contribution - $5000)

12.2

a) If Ashwin paid for the $1000 premium-from after-tax dollars, he needs to earn $1941.75. That is, $1000 / (1 – 0.485).

b) Ashwin would save $941.75 in tax by arranging to have the $1000 contributed to superannuation. However, the contribution to superannuation may also be taxed at 15%, so $150 in tax may be deducted from his contribution by the superannuation fund. Thus, Ashwin may have to contribute $1176.47 to pay for the $1000 premium after allowing for 15% contribution tax.

12.3

Max and Greta will have to include $40 000 each in their taxable incomes. Both Max and Greta are eligible to contribute to superannuation either under the employment test or under the spouse contribution rules. If we assue that they both have $20 000 of other income then their assessable incomes will be $60 000 each.

If they each contribute $51 667 to superannuation, they can each claim a tax deduction of $40 000 to eliminate the tax on the capital gain. The $51 667 is found by applying the formula: (Assuming they are self-employed)


Deduction ($40 000) = $5000 + 0.75(Contribution - $5000)

· $160 000 capital gain

· $80 000 each ( 50% rule ( $40 000 each

Professional Advice

Huong needs advice on salary sacrifice

1. The amount of tax that Hong would pay if she took the bonus as salary would be:

$10 000 x 48.5% = $4850

This would leave a net amount available to her of $5150

The amount of tax that Huong would pay if she placed the bonus into her superannuation fund would be:


$10 000 x 15% = $1500

This would leave a net amount available for investment for her $8500.

2. The salary sacrifice agreement must occur prospectively – not decided after the bonus is earned or at year-end. Also, the agreement should be in writing.

The key issue to consider is if investing the net amount in a geared portfolio will enable Huong to produce a greater overall investment than if she invested the higher amount in an ungeared superannuation account. Also does she require access at any time over the next 30 years or so, as she is unable to access investments in superannuation until retirement.

Case Study 5

· Reorganizing income for retirement

· Jim:

· 1995 Ferrari

· $100 000 cash

· $100 000 fixed interest

· 100 000 options (50c in the money)

· $80 000 salary

· Sofie:

· $70 000 salary

· $150 000 liquid assets

· Want a $350 000 home

1. More information is needed on risk preference; the net saleable value of the Ferrari after purchasing a standard sedan or wagon; standard of living required in retirement (i.e. annual income); and when Sofie will retire.

2. Administer a risk-preference quiz.

